Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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\

M;z each part.

(07 Marks)

c. For the circuit shown in fig. Ql(c), ;ﬁ J
node analysis. /}\ (06 Marks)

Fig.Ql1(c)

d. Find the resistance Rag for the: nqﬁvork shown in fig. Q(d) usmg A -Y conversion.

(04 Marks)
Fig.Qld
a. Define the fo\lfb ing terms with example :
i) Graph-" n} Tree iii) Co - tree. ) (03 Marks)
b. For the, ¢ircuit in fig.Q2(b), write the tie — set matrix using AB, BC and CA\Qr %he links of
the tree..Obtain the equilibrium equations in matrix from using KVL and calculate all loop

currents and branch voltages.

Fig.Q2(b)




Draw the oriented graph for the circuit shown in fig. Q2(c). Also find fundamen\ta cﬂt — set
sch du}e using Xa1 Rz and Xy or the twigs of the tree. Find admittance matr

(03 Marks)

(08 Marks)

in Fig.Q3(b).

Fig.Q3(b)

(06 Marks)

a. Find the Thgyenm s equlvalent circuit across terminals a & b for the gircuit shown in

”‘156 fmd the current I, using this equivalent circuit. < (08 Marks)

b. State and prove Norton’s theorem. (05 Marks)
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‘Fm\d 7, for maximum power transfer for the circuit shown in fig.Q4(c). And also\'ﬁnﬂ the
'average maximum power absorbed by Zy. ( 7 Marks)

For the circuit s 1QWn Jn fig.Q5(a), find the transfer function, resQi(an“”c frequency half power
frequencies , bandWIdfh and Q factor. k (10 Marks)

Fig.Q5(a)

capacitor. ; (05 Marks)
For the network shown in fig. QS(c), fdind 5 yalue of C for resonance to take place at
w = 5000 rad/s. & (05 Marks)

Fig.Q5(c)

Write a short note on
condmons

(06 Marks)
\long time before closing

(06 Marks)

Cn &5

(08 Marks)
~ \";CX,\ X
[ O3 e

Fig.Q6(c) ) *‘
:bp« '\9 > 2% 1" a—ov 0 GH
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(06 Marks)

IG waveform shown in fig.Q7(c).

[+
(04 Marks)
a. Find the Z — transform in terms of Y - p;ar\grfiéts;r& (04 Marks)
the transmi (08 Marks)
C. (08 Marks)
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